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1. Define MEAN - A KA a\le/rage,AdQ al\ values. Dwvide the Sum
by +he amount of values in the number set.

Examples:

a. For the 2 woman bobsleigh, the team with the fastest overall time in
4 runs wins. If the Canadian team had runs that were 57.39 sec,
57.73 sec, 57.57 sec, and 57.92 sec, then what was their average
(mean) speed?

57.39 4+ §7.73+57.57+ 57.92 = 230.6)

220,61 =4 = 57.4,5\25 :%

xe®

b. 124#13,414,419,119.5422413 NG
sum= W25 =7 = |Q>-0’7,,“+~~- :

5 Define MEDIAN - AKA Middle . Kewrike Low 1o Wigh Tre middle value 15
¥ae wedion. \& dhere a 2 widdle values, calculate +he
MeEan ol ¥nose 2 Valuves.

Define MODE - AKA MOST . Choose ¥he value that reprotS cost
oflen. Can hnove m™u\Np\e, Svng\e OR N0 mmode.,

|£ 2+ mo0des ., ChoosSe moSY Tepcas.
X! 3 3 y4yy -5 wode s Y even ‘\"nou%\\ 3 repeals

Examples:
1. The Vancouver Canucks won 7 out of 10 games. The team

scored the following amount of goals over the past 10 games:
5 43,2,1,5,3,3,7,4.

a. What is the mode? / 2/ ?)7573"1)4’5%7/ mode = 3
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Q, &4, 09, &, L, O, O, O, /, .

. What is the mode? / 2/ 33 73:;2:(357/ mode = 3
3 2 /2
. What is the median?/(/x }/’%@%5%7/ dian =35

2t = 7 < 2

. What is the mode and median of: 4, 2, 9, 6, 4

2 4 4 69 mode =4

Wﬁman=4

Homewor¥:

b= 13 =17
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